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PART-1I : COMPUTER / qrI-I1 : T

Which one of the following is prefix
representation of the infix expression
A=(B+(C)/D?

(a) [*A+BCD

(b) A+B/CD

c) +*AB/CD

{d) None of the above

A B-tree is of order p and consists of
n keys. Its maximum height is

(a) Iog{pﬂ](n +1)/2
(b) log ph
[C] log[i)}r?}‘n* 1}

(d) None of the above

The following postfix expression with
single-digit operands is evaluated using
a stack :

B23A/23%+51*~
(Note that A is the exponentiation
operator.) The top two elements of the
stack after the first * is evaluated, are

(a) 6,1 (b) 5,7
(&} 32 i) §.S
A hash function defined as

f(key) = key mod 7 with linear probing
is used to insert the keys 37, 38, 72, 48,
98, 11, 56 into a table indexed from
0 to 6. What will be the location of
key 117

(a) 3
c) S

(b) 4
(d 6

The concatenation of two lists is to be
performed in O(l) time. Which of the
following implementations of lists could
be used?

(a)
(b)
(c)
(d)

Singly linked list

Doubly linked list

Circular doubly linked list
Array implementation of list

10
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35.

fye # B B 27
/+A+BCD C”D
(b) A+B/CD >
(c) +*AB/CD
Maq?{?ﬁﬁﬁaﬁg?ﬁ

TF B-tree,ﬁ'ﬂﬂﬂp?@mﬁ ﬂ?ﬁlﬁ
. ) stfugam 39 2

(a) log(ps)(n+1/2

(b) logpn

(c) ]Dgtpf2i[n+1]
(d) I0gE & | F1§ T

fara-fefi sivgm % @y o= drefsem
ZF 1 SF F T A A 8 R
8237 /23*+51%-

(T 3 A TF TENRAETA AR R1) 9E
« ¥ A F 9% ©F F @ i oferdza 7

(@) (b) 5,7

()

6, gk

3.2 d 1,5

TF ¥ FHH f(Key) = key mod 7 F ¥ H,
i wifem F @iy, gfonfya R @ w@m
Ffsai 37, 38, 72, 48,98, 11, 56 F1 0 A
6 @ i difcm § miva F0 F o fw
213 11 1 TE @9 @m?

(@) 3 (b) 4

() S d) 6

A fae # FHEE o) wm & B R

= A e foe-
afee? FAETA F 3@ A

(a) Foreh foez foae
(b) Zaeh forae fome
(c) WHeR Taeh fome form
d) o= = R st

Scanned with Uamscanner
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36. Match List-1 with List-1l and select the | 36. gi-1 #1 g1l & gafem s 7o T %

correct answer using the codes given 4 feu o 2 H AT N HE TN 'GIEN :
below the Lists :
: - —11
List-I List-I1 'q?ﬁ I e
\  All-pairs shortest 1. Greedy A. fa-vad YlﬁF!.tI'l?-I 1. fudi
path B. fFward 2. 3W-%E 94
B. Quicksqrtag 2. Depth-first
i‘\ﬁ%‘% ) sEaih C. fufpm a2 Afm A 3. A wfam
C. Minimum weight 3. Dynamic D. F3#E FEA= 4. fearge w@ FFN
spanning tree programming
D. Connected 4. Divide and %2
components conquer % Y @ A ‘B C D
Codes . % ?) 'l/ \ ) 4 1 3
’ L K
2 & & 8 7 & % 2
(b} ‘} B C D © A B C D
3 4 1 2 — 3 4 2 1
) A B C D
N : !3 4 -2 1 (d) A B C D
: - 1 2 3
d) A B c D
4 1 2 3 37, f= & A F-w Teiign He-E e T
YiecAd qgFdl 2’
37. Which of the following algorithms solves T H ¥
the all-pairs shortest path problem? _a} fesweg UG
(a) Dijkstra’s algorithm (b) TS LSiict
(b Floyd's algorithm (© fom it
(c) Prim’s algorithm
d) amid YeTiRgH
({d) Warshall’s algorithm @
38. Which of the following sorting 38. ﬁ_q # ¥ frm wifdn e # & ZH
algorithms has the worst time FeAfRIA nlog(n) Tl &7
complexity of nlog(n)? (a) BqEte
(a) Heapsort (b) N
(b) Quicksort R
| YA WP
(c) Insertion sort R (c) )
(d) Selection sort \ (d) CRENEKIIC

39. What is common in three different types 39, fim # @ FR-w wh A W@ (‘S‘T-Cﬁ@,
of traversals (inorder, preorder and o - affdt SR - 31TE) § 3w T j7 .

postordcr}l? . | @) % Wﬂ'ﬂ-ﬁﬂﬁﬁmm%
(a) Root is visited before right subtree Vo, 2t e ® -
(b) @d w&-H AN ww W wW-F | S

b) Left subtree is always visit efore
i right subtree ’ @ fafire %ta @
(c) Root is visited after left subtree (c) ® e W"Q ¥ g fafee #@ &
(d) All of the above (d) IRfH Bl
Lt

5 11 [ PT.O.
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40. Which

of the following is correct

recurrence relation for worst case of
binary search?
{a) T(n)=2T(n/2)+0O(])

T()=T(O)=0()

(b) T(n)=T(n/2)+O(n)
T(1) = T(0) = O(})

(€) T(n)=T(n/2)+0()
T(1) = T(0)= O())

(d) T(n)=T(n/2)+O(logn) 7\
T(1) = T(0)=O())

41. Which of the following traversal
techniques lists the nodes of a binary
search tree in ascending order?

(a) Postorder

(b) Preorder

(c) Inorder

(d) None of the above

42. A hash table of length 10 uses open
addressing  with hash function
h(k)=kmod10 and linear probing. After
inserting 6 values into an empty hash
table, the table is shown below :

0
1
2 42
3 23
4 34
) 52
6 46
7 33
8
9

Which of the following choices gives a
possible order in which the key values
could have been inserted in the table?
(a) 46, 42, 34, 52, 23, 33
(b) 34, 42, 23, 52, 33, 46
(c) 46, 34, 42, 23, 52, 33
(d) 42, 46, 33, 23, 34, 52

43. C was primarily developed as a
Jﬂ) systém programming langua
(b) general purpose language @
(c) data processing language
(d) None of the above

/25-C
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41.

ad frpt R 27
(a) Tin)= 27T(n/2)+O(])
T(1)=T(0)= o(1)

(b) T(n)=T(n/2)+ O(n)
T(1)=T(0)= O(})

() T(n)=T(n/2)+0O()
T(1)=T(0)=0(])

(d) T(n)=T(n/2)+O(logn)
T(1)=T(0)=O())
fir Yadfe arE § @ BA-w, w76 4
¥ A 71 a0d F4 A geiag Fa 27
(a) TRZ-3MTER
(b) f-3T=R
(c) T3
(d) ITF A B FE T

42. = 10 1 TF B afdE, 'W HeA

h(k)=kmod10 3 =R Wifem & a3
Uefam =1 I9gm FA R UH @redl 89 AT

i 6 4 Se1 F a8 ATt H=EEN R

0
1
2 42
3 23
4 34
5 52
6 46
7 33
8

L9

= 3 A #R-m ey @ wonfi w2
s & e 3 semrd 7 <1 s 17
(@) 46, 42, 34, 52, 23, 33
(b) 34, 42, 23, 52, 33 4¢
(c) 46, 34, 42, 23, 52, 33
@) 42, 46, 33, 23, 34. 5,
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44. The minimum number of temporary

44, ?) ANUEA F Fi2= F WY F3 F A0 Py

variables needed to swap the contents of - :
two variables is et Afroaat i qen e wrfi?
(a) | b) 2 (a) 1 B 2 @P
)y 3 (d) 0 ¢ 3 (d) O/
45. The program fragment 45. Mum™ Fm=

| 5 int a=5, b=2;

int a=5, b=2; : i e

rlr'llltl l %d".a+++++ m‘ prlntf ( Yod s8¥F+F i-u‘
(@) prnts 7 e ;
(b} prints 8 (b) ﬁ:; FHTAl % 8
() prints 9 (c) ‘m%ﬂ;_g

(d) ITF B

(d) None of the above

. C vfim v # fr= sz w

46. Consider the following program segment :
in C programming language : *
1=6720; j=4,; i=6720;, j=4;
while ((i%j)==0) while ((%j)==0).
i=i/j j=i+ L) {i=i/j j=i+ Ly
On termination, j will have the value FuIf W j 1 A B
(a) 4 (b) 8 (a) 4 (b) 8
fc) 9 (d) 6720 ) 9 (d) 6720
47. Consider the following segment of 47. C $18 & i @vg © R #
C code : .
g nt}), n;
intj, n; j=1
=1 while (j<=n) j=j*2;

while (j<=n) j=j*2;
The number of comparisons made in the
execution of the loop for any n>0 is

(a) [logpnl+1

£ W n>0 % fow ¥ Freom d A wE
e 6 wE @
(@ [logpnl+1

(b) n (b) n

(c) l_loggn] (c) floggrﬂ

(d) llogonl+1 (d) Llogonl+1

48. What will be the output of the following? 48. 3 71 fvfa (output) = Bm?
main () main ()
| int a='A"; : int a='A’;
printf ("%d", a); printf ("%d", a);

(a) A ay A

(b) a (b) a

(c) 65 (c) 65 .~

(d) Compilation error (d) HirarEevE 3R

/25-C

[ P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2i7]

49. f= T H1 firfa (output) F1 e

49. What will be the output of the following -
program? ;n
int f(int x) static int ¥;
{ y +=X,
static int y, return (y);
y+=x; \
return (y); main ()
)
main¢) {ima,i;
t - for (i=0; i<6; i++)
e o0 i< 14 it
a=f(:], pﬂntf( dra):
printf ("%d", a); )
p. ! (a) 6 (b) 8
. (a)/ 6 (b) 8
Q ) 10 d 15
() 10 (@) 15
50. Which of the following is not a storage | 50. C Hmfim s # = # @ #-
class specifier in C programming Fore e T 7
Inngupe (a) R
(a) Register T
\(b) Volatile @ )
(c) Extern ()
(d) Typedef (d) 2RI
51. In C language 51. C w1 §
(a) parameters are always passed by (a) ¥l W ewm Y W@ ¥
values value ZRI
(b) parameters are always passed by
voliatots (b) ¥wfied # ww A I R reference
‘9_ non-pointer variables are passed by LUy
value and pointers are passed by (c) non-pointer variables %! value ERI
@ Telercoce M pointers M reference ZW AN
(d) parameters are always passed by T R
value result
(@) ¥l | wwm Y W R} vale
52. What does the following C statement result A
mean?
scanf ("%4s", str); 52. fefefan ¢ #wm w1 w1 o 1 34
(a) Read exactly 4 characters from scanf ("%4s", str).
e (a) H~a A o tha' i
(b) Read maximum 4 characters. from i q’é,rn
console (b) FHe A stfray 4 R wm
(c) Read a string in multiples of 4 (c) 4%Wﬂ'ﬁﬁﬂtﬁ
(d) None of the above

/258-C 14
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53. Assume the following C variable
declaranon

int *A[10], B[10][10],
Among the following expressions, which
will not give compile time errors if
used as left-hand side of assignment

statements m a C program?

| Al2]
1. A[2][3)
1. B[
Iv. B[2l3]
(a) 1, I and IV only
(b) 11, 11 and IV only
(¢) 11 and IV only
(d) IV only
54. What is the output of the following

C program?

# include

int main ()

I

int index ;

for (index=1; index <=5; index ++)

printf ("%d", index);

if (index==3)
continue;
]
I
(a) 1245 (b) 12345
(c) 12245 (d) 12354
55. What is the meaning of the following
declaration in C programming language?
int(*p)[3);

(a) It will result in compile error
because there should not be any
parenthesis, i.e., "int *p{5]" is valid

(b) p is a pointer to 5 integers

(c) p is a pointer to integer array

(d) p is a pointer to an array of
5 integers

56. In the relation R=1{(12),(2 3)}, the

minimum number of ordered pairs that
must be added to this set, so that the
enlarged relation is reflexive, symmetric
and transitive, is
(a) 4
(c) 6

5
7

(b)
(d)

/125-C
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53. fafafas C
rrmé:

variable declaration =

int *A[10], B[10][10);
fam st § A FA-E/A FETEE T
2 =t /A, AR @ C dm # aw-i

TR W ) R wam fea sme?
I. A2
1. A[2[3]
. Bl
IV. B[2)[3]
(a) #FEAL 11T IV
(b) Faa 1, 11 @ IV
(c) Faa 11 3R IV
(d) FF4 IV
54. fr= ¢ s &1 fid (output) F AMY
# include
int main ()

int index ;

for (index = 1; index <=35; index ++)

i as

printf ("%d", index); 123
if (index==3)
continue;

}
(a) 1245 (b) 12345
(c) 12245 (d) 12354

55. C Wfim s § 3 declaration &1 #1

3d 27
int(*p)[5];
T Fiwea 3 # sfoa drit JifE T8
¢ Weofgm 7@ =fen, wHwiq
"int *p|5]" FE 2
p,S?ﬂmﬁm?
_le) p, ¥R F AR R
(d) p, 5 T ¥ freh W wfgz }

56. fou T R R={(42), (2 3 § Frmam fF

(b)

&

, 5{;},!3 | PT.0.

W Y W W AR e R
freifaa, fmfes ok fSrfea & wmo?
Jday” 4 (b) 5

() 6 d 7

\&
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S7. The range of the function
FIX)=x2 /(1+x2) is
(@) (o0, + o)
(b) (O, =)
(€) (===, 0]
(d) [0,
S8. A and B are two 8-bit numbers such

that A+ B < 2% The number of possible

combinations of A and B is

(a) 2° (b) 28
() 2'° @ 2%-1
59. Which of the following is tautology?
a) avb—bac
(b) aab—-abve
c) avb—=(b—>cq)
{d) None of the above

60. From a complete graph by removing

maximum edges, we can construct
a spanning tree.

(a)
()

e-n+l

(b) n-e+l
n+e-1 (d) e-n-1

61. In how many ways can 8 Indians, 4

Americans and 4 Englishmen be seated
iIn a row so that all persons of same
nationality sit together?

(a) 3!4!8!4! (b) 3! 8!

(c) 4!4! (d) 8!4!4!

The total number of words formed by

2 vowels and 3 consonants taken from
4 vowels and 5 consonants is

(a) 60

(b) 120

(c) 7200

(d) None of the above

The output F of the circuit

~

62.

63.

_q

is given by X
(@) 1 (b) O
() X (d X’

/25-C
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2
7. e flx)=x? /(1T
(@) (= =)
(b) (0, =)
(c) (== O]

A+ B<28 A3 BF @ #
e &rfl
(a) 2° b) 28
() 2'° d 2*-1
so. i § & #-m e 27
(a) avb—bnac
(b) aab—-bve
() avb—(b—0)
(d) 3I9dw & B F1§ AL
60. TF FFAE A6 § HAbFHan Tt 72 W
i A a=rn 1w 2
(8) e-n+l (b) n-e+l
ek nte-1 () e-n-1

61. UF Uf # 8 WRd™, 4 3WAFHA 3R 4 3fem
et foraft T | 93 g4 &, A1 U A TE
& |vft et wE Hiy w7

(a) 31418141 (b) 3!8!
(c) 414! (d) 814141
62. 4 T 3R 5 FwHl § @ 2 W AR 3 =
éﬁgﬁﬁﬁﬁﬁmmmm%?
(a) 60
(b) 120
(c) 7200
(@) ITH A | B T
63. ity

ﬁ@%ﬂi

#1 ffq (output) F = § § 7 m?
(@) 1 () o
() X d) Xx’
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64. Which of the following is a memory

element?
(a) NAND gate
(b) SR flip-flop
(c) NOT gate
(d) Universal gate
65. Which of the following is a universal
gate?
(a) NOT (b) NAND
(c) OR (d) AND

66. The binary equivalent of the Gray code
11100 is

10111 00111

10101

(a)

(c)

(b)

01011 (d)

67. Which one of the following is not
necessarily a property of a group?

(a) Commutativity

(b) Associativity

(c) Existence of inverse for every
element

\BL Existence of identity

68. What is the possible number of reflexive
relations on a set of S5 elements?

(c) 2 20

69. From the given digits
2 2,33, B3 4, A%, 4
how many 4-digit numbers greater than
3000 can be formed?

(a) 50 (b) 51
(c) 52 (d) 54

70. What is the maximum number of
different functions involving n Boolean
variables?
(a) n? (b) 2"

2

) 2" @ 27

/25-C
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64. i 1 3 Tm-w s memory element 8?

(a) NAND 72

JPr SR flip-flop

(c) NOT iz

(d) FFeda 72
65. 1 % A Fa-w1 v gfrads Mz 7

(@) NOT b} NAND @/D

(c) OR (d) AND

11109

66. 1 FT 11100 F1 240 THFx B ‘l’)??‘ﬁl
e 10111 (b) 00111 1 AR

(c) 01011 (d) 10101 @

67. 7= ¥ A FR-w = A F AEE W
T 27
(a) fafrmaa
(b) weE=TiE
() Y% 999 F fore ufeeim srage wfém
&
(d) HTEY ¥4 9

68. 5 JF¥al & ¥ W Awifda gyl it awrfaa
e &= 27

(@ 2'° (b) 2'°
69. g M 3

2,2 83,3, 3.%. 4, %4

A 3000 ¥ 31y 4 3 N A won =
o gl B?

(a) S50
(c)

70. n gfcraa dftuae @ st fFa fm wom
T S GHA 27

(b) S1

52 (d) 5S4

N2 n? (b) 2"
© 2% @ 27
Lo , | BT.O.
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71. The number of equivalence relations of

72.

73.

the set {12 3 4! is

(a) 4 (b) 24
() 25 (d) 15
What is the range of the following
function?
14, 8),(9,2), (-3 -4))
(a) 4,9 -3)
(b) {8
(€) 14,8),(92,(-3-4)
(d) |82 -4)
In the given graph identify the cut
vertices :
A (©
D (E)
(a) Band E
(b) Cand D
lc) Aand E
(d) Cand B
74. monitors user’s activity on

75.

76.

/25-C

Internet and transmits that information
in the background to someone else.

(a) Malware

(b) Spyware

(c) Adware

(d) None of the above

A portion of the polymorphic virus,
generally called a , creates a

random encryption key to encrypt the
remainder of the virus.

(a) polymorphic engine
(b) multiple engine

(c) mutual engine

(d) mutation engine

SSID stands for

(@) Secure Service Identifier

(b) Secure Set Independent Device
(c) Service Set Identifier

(d) Service Set Independent Device

18
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71. Az 11,2, 3, 4) F a4 g Fi T R

(a) 4 (b) 24

€ 25 @ 15
72. f weA A 19 =R

“41 8), (9) 2)) t'_-s' _4”

(a} {4: 9; = 3}

(b) (8}

(C] {[4r 8)’ (9’ 2)- (_3| "4]:

(d 82-4)

73. fm T T B 2 aeE I TEEH o
&) (©
(B)

(D (B)

a9 BHRE
(b) C ¥R D
) AIRE
d C3RB

AT W IFITERA HI Tfdafaty #
ﬁmﬁm%aﬁtw@ﬁmmﬁﬁ

ot 3l % v v =@ R
(a) WAL Y 1
L),Fnﬁm
(c) TEAM

I A | i T

75. AR W UfomiGs ad % F wd #
_ FE VAR, MA@ F I T 3

F ¥ fag & Ten IHFgm 90 29m Ry
Tifemifbe 399

(b) Hfeeua oM

(c) WY 5

(d) V¥R §9H

76. SSID fwua afim 7 37

Secure Service Identifier

(@)
@ (b) Secure Set Independent Device

\9,— Service Set Identifier
(d) Service Set Independent Device

NP S
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77. The number of ; 3
fora chucntialc::::::::llsul:l:ha st;te table 77. @ Fwfma wffz i 22 daw 1, Py o
- '!l L - o -
and n inputs is o Sip-ops m flip-flops 3 n §192 &, T TR &7
(a) m+n () m+2n (a) m+n (b) m+2n
(©) 2m+n (d) 2m+an () 2m+n (d) 2m+2n
78. Which of the following does not Huve 78. Fi= o @ faui 8 2 AT Tk Bl 27
8 data lines? o (a) 8085 (b) 8086
(a) 8085 (b) 8086 6 3 ];) (c) 8088 (d) Z80 v Fr, !
(c) 8088 d) ~Z8 - . B~
I8} 480 79. dferm sifeafs x+ x'y Frek wum 27
79. The Boolean expression X+ X’y equals (a) X+Y % ' .‘f'
(a) -\' +Y (b) X+XY \/\k’k
W et () Y+YX
(€) Y+YX d) X'Y+Y'X
(d) X'Y+Y'X

80. A computer has 32 MB memory. How
many bits are needed to access any
single byte in the memory?

(@) 25 (b) 16
(c) 24 (d) 20

81. A computer has 128 MB memory. Each
word in this computer is of 8 bytes. How
many bits are required to address any
single word in the memory?

(a) 27 (b) 24
(c) 23 (d) 25

82. To achieve parallelism, one needs a

minimum of @
o

83. Consider a disk pack with 16 surfaces,
128 tracks per surface and 256 sectors
per track. 512 bytes of data are stored in
a bit in serial manner in a sector. The
capacity of the disk pack and the
number of bits required to specify a
particular sector in the disk are
respectively
(a) 256 MB, 19 bits
(b) 256 MB, 28 bits
(c) 512 MB, 20 bits

(d) 64 GB, 28 bits

& 2 processors
(b) 3 processors
(c) 4 processors
(d) None of the above

/25-C
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1. TF F7X § 128 MB #I 36 ? 3R
foarelt oft

80. 32 MB 39l ¥ % #gR ¥ uw fie &z

F I § w73 F o 5 e e
ATEvaFal erft?

(a) 25 (b) 16

(c) 24 (d) 20

i

dE F HEA 8 e R | fama =
W § e F ¥ foy e e
HraTaFHal gt ?

(a) 27 (b) 24

(c) 4 TEW
(d) 3T A A H13 T

83. 16 WHE, Uid whE 128 % 3R W =

256 ¥FA F Y & e ¥ W fa=m =)
TF YR F T fae W 512 3R f 2
FAER wfed R 1 5 U 6 s oin fow
i e = Pffe +0 % e saws e 6
ﬁw%,m:

(a) 256 MB, 19 fae

(b) 256 MB, 28 f&e

(c) 512 MB, 20 f&

(d) 64 GB, 28 fae

[ P.T.O.
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84. Which of the following is not true

regarding registers?

(a) Internal storage of CPU

(b) Can hold either data or instruction
(c) Made up of flip-flop

[d,) Cannot store intermediate results

85. While implementing a stack on a register
stack, the stack pointer register is

(a) .incremented first
.~ operation

during push

(b) decremented first during push
operation

(¢) incremented first during pop
operation

(d) decremented first during pop
operation

86. Zero address instructions are

implemented with the help of

ueue
& a @
'

(b) stack
(c)
None of the above

(d)

register

87. Switching between a supervisor mode

and a user mode for a processor is
usually done by a

(a)
(b)
()
(d)

subroutine call
branch instruction
software interrupt

None of the above

88. Which one of the following is used to

read the control words seque
the control memory?

(a)
(b) Microprogram counter
(©
Jd).- Program counter

ily from

Microprogram address register

Control memory address register

/25-C 20
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) g R F A w5 E
(decrement) Al ?

() T wHwwH F I W% 9
(increment) Sl ?

@) T R ¥ AR TR 9F FW
(decrement) Tl ?

S0 3w ta F fre § e w3
I A R

@)

(b) ®F

(c) Tt

(d) 37 3/ FE T

e § grERs 9 a9 R A ¥ W@
fafm fra 3 & fres g @ 27

(a) wE&fA Fd

(b) ¥ FHR

(c) HTHRAW =12

(d) I A F HE 7
ﬁnﬁﬂ%ma.-@am
FHEE e % fou wam R
(@) ™ Y3 i
(b) AT w3y

) 3 30 ¥ e
) T gy

q F2E 78 @

ST R
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89. Which of the following can be used to
track the tasks of a project, when the
estimation of task time
uncertain?

(a)
(b)
(c)
(d)

is fairly
Decision table

Case tools

DFD

PERT

90. Which technology emphasizes parti-
cipative development among system
owners, users, designers and builders?
(a) FAST
(b) RAD
(c) JAD

(d) OO0D
The best suited hidden surface

algorithm to deal with non-polygonal,
non-planar surface patches is

91.

painter’s algorithm
scan line algorithm

92.
(a) pixmap

(b)
N

(d)

bitmap
Both (a) and (b)
None of the above

a) Z-buffer algorithm
(b) ray tracing algorithm
(c) E:E
(d)
Raster images are commonly called
93. A scaling transformation changes the
(a) size of an object
(b) location of an object @
(c) shape of an object -—
(d) Both (a) and (b)
=
94, One of the disadvantages of pass by
reference is that the called function may
inadvertently corrupt the caller’s data.
This can be avoided by
, (a) passing pointers
(b) declaring the formal parameters
constant
declaring
constant
All of the above

the actual parameters

(c)

(d)

/25-C 21
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89, f= i & fopgam 3w vl % F7 W 3
F3 F fou fen 1 wF@ 2, w9 Fd 9o
NTHe bl fAfrm ' 2e

(a) Tafgem 2aa
(b) *# ZH
(c) DFD
(d) PERT
90. FA-H aFdF fumm Wi, ITETEAIA,
SR YA
FAST

(a)
(b) RAD
(c) JAD
(d) OOD
91, watn fed7 wha Tenifgn, A AA-wifer,
FA-wrR 58 39 F 3UTF B, 2
(a) Z-9HL TAIIGH
(b) X fam TemiegH
(c) Ued TeiitgH

(d) A A YigH

92. T TS F) WHIA: H1 FHEN AT 87
(a) fomEdy
(b) ferzhu
(€) (a) ¥ (b) Fi
(d) 39 7 7 FE T

93. THET TFAGHNTA 1 gTad 27
(a) 3festaz &l MM
(b) aHfewiae i feufa
(c) e H ATHA
(d) (a) 3 (b) T
94%%%@?&@5&&:‘5‘@@%%%
AR T HEH FAEA § FER F 32 F
FZ F GHa1 21 798 Foa A | e g =
W gehal 87
(a) TfGm uTged
(b) Wie drdied ) fer Oifta
e e R a5

(d) 39 8

[ P.T.O.
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?
o 3 8 v 3 A T
95. Which of the following is not a primitive 95.
data type? (a) E{ﬁ’fﬂ
B
Q‘@’ Boolean - (b) arg?
b yte , :
[. . . ,'\5) (c) fem
(c) String -
(d) Double d)
o
96. The statements 96. FUA
string varl| |; string varl| |:_
varl=new string|3]: yvarl=new string(3]; :
system.out.printin (var1 [1)); system.out.printin (varl [1]);
o . fi=z &4
(a) an empty string o Q .
o
(b) null E '// (a) T @l‘[
© o (b) 7 (null)
Jd}- a garbage character c) O
97. Every EJB class file has @ T Frd® Fa

(a) one accompanying interface and 97. 5% EJB 71 wfaet F 919 B B
one XML file ;

(b) one accompanying interface and (a) T Hel HAUgE U@ TF XML I
two XML files (b) TF He™ IHAUYE TS 3 XML HEF
(c) two accompanying interfaces and A : : .
one XML file (c) 2 HeW FRYE TH TH XML Ffaahi
(d) two accompanying interfaces and (d) ¥ HeW FAYS TS & XML FraH
two XML files
98. T& uisd H fen 4 =l 2= 2@ 3
98. In unit testing of a model, it is found . R ;gzaﬁq e _’:?'T %g
that for a set of test data, at the 1 H_E[-
maximum 90% of the code alone were Thel HeTa! e A R, @ W W’ﬁ
tested with the probability of success ﬁmﬁﬂmﬁfﬁ el
0:9. Then the reliability of the model is -0 § it o
(a) greater than 09
b) 09 F TR g
(b) equal to 09 (®)
(¢) at most 0-81 () sk 0-81 A
(d) at least 1/0-81 (d) F9-B-F9 1/0-8]

99. Which of . the following activities does | 99. fi= § @ 33y.
not belong to implemeéntation phase of ¥ & T 2 ?P nfafafy SDLC % S

SDLC? .

(a) Program testing (@) ST s

(b) File conversion @ (b) %EH Thads

(c) User training () : ‘gﬁv‘m

\@ New changes to the system

/285-C 22
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100. Project nisk factor ig : s
(a) waterfall mode] i 100. W9 fos %9 9 § @ frd WiEa §
| : foamofty g 27
(bl prototyping mode] ) %
(¢} spiral model ,4/ (a) ATZTHEA qlg‘ﬁ
01. Accordi i by SIEE
. Acc S
101, fiecording to PUTNAM, the project effort (d) 32fea TRz TiEd
1S mversely proportional to the fourth
power —of the development time, | 101+ PUTNAM ¥ wqEn utEeE oM, T
Doubling the development schedule for "y ) N " (arEr) F | sEeieE R
a 100 Person-Month (PM) project would % 100 Ffw-784 (PM) afdrsmn F faFs
reduce the project effort to FHFA H A FA A afd T FH A
(a) SO PM FT R SO
(b) 716 PM (a) 50 PM
(c) 25 PM (b) 7-16 PM
(d) 625 PM (c) 25 PM
102. In virtual memory paging, page size and (d) 625 PM
frame size have which of the following | 102. aﬁam et ofsm d 49 a9 9 ¥ §RS 4
relations? ' 1 gy B 27
2) Both are of equal size @ (a) 241 g9 19 i B #
(b) Both are of unequal size (b) 2 3EHE A9 ) B B
(c) The page size is exactly half of the (©) U WEw, W wEA F % aef Breft B
frame size
U HTE, HH A5 I S
(d) The page size is twice the frame size (@ ot 2
103. To change the command prompt in 105. ;TJIQTI; . i % fore fen
UNIX, one can use
(@) grep Jbr1s (a) grep (b) Is
J9 psl (d) pwd (c) psl (d) pwd
104. Which of the following page replacement 104. fm % & FH-w Y9 Reowiie %“m@’ L
algorithms requires futuristic infor- IR I3 R (v H) D ® Fm
mation about page references? Al 87
(a) FIFO (a) FIFO
a(b) LRU (b) LRU
(c) Second chance (c) ¥F= IH
(d) Optimal (d) fena
105. A process refers to 5 pages A, B,C, D, E | 105, U& Y4 5 g-g”f A, B, C D, E®
A A B C D ABEABGDE
A; B C D A B E A B, G D E e
If th ge replacement algorithm is % #A A 3 AR !
e pa 2 ‘
FIFO, the number of pages which QF Rgw  FIFO .8, @ W ‘Eff, 3? empty
transfer with an ‘empty internal store of internal store of 3 frames % |y
3 frames’ is TR Ffl, T i
(a) 8 (b) 10 (@) 8 (b) 10
) 9 d 7 () 9 d 7
/25-C 23 [ P.T.O.
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106. The number of 3’s in the output of the
program

main ()

{
printf ("1'); fork ():
printf ("2");, fork ();
fork (); printf ("3");

(@ 16 (b) 8

(c) 4 (d) 2

107. The data blocks of a very large file in
UNIX file system are allocated using

. (&4 contiguous allocation ;

(b) linked allocation
(c) indexed allocation
(d) an extension of indexed allocation

108. If a function does not modify the
database, the purity level is

(@) RNDS (b) WNPS

(c) RNPS (d) WNDS

109. Which of the following concurrency
control protocols ensure(s) both conflict
serializability and freedom from
deadlock?

I.  2-phase locking

II. Timestamp ordering
(@) I only

(b) 1II only

(c) Both I and II

(d) Neither I nor Il

@

110. In RDBMS, different classes of relations
are created using technique to
prevent modification anomalies,

(a) functional dependencies

(b) data integrity @

(c) referential integrity

)

normal forms

/25-C 24
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printf("2");l
fork (); print
i 5 o 3 1 we B
% famia (Uutput) 7% 3
(b) 8 ;
(a) 16

f("3")

d) 2
© 4 (d) i

107. UNIXWWﬁﬁﬁ@a@W%h

et stz T T
(o) T AP T
(b) T3 T AT

(c) AgFHA T &
(@) i e F FrER g

m———

TR AT R
(a) RNDS (b) WNPS
(c) RNPS (d) WNDS

109. 79 % & FH-w/A Gwadi P
(concurrency control) Warhid, Hidea
fafaarafafafe v 2eais ¥ =@,
Fhfeaa Fen 2/ 87
L 2-% wifen
. 2w apidin
(a) Faw |
(b) ¥ 11
(¢) I 3R 113
d 3RL38

110,
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(11 which of the followin

hased data model? E 18 not a record-

@f\:

(a) Relational model]

\ :

(b) Hierarchical model
(c) E-R model

(d) Network model

112. If trgnsaction A holds a shared lock R
and if transaction B also requests for
shared lock on R, it will i
(a) result in a deadlock situation
(b) immediately be granted [ y¢
(c) immediately be rejected
(d) be granted as soon as it is released

. by A
113. A data model is a collection of

conceptual tools for describing
(a) data and data relationship ,5

(b) data semantics and consistency
constraints

\/19) data, data relationship, data
semantics and consistency
constraints

(d) None of the above

114. The difference (-) operation removes
common tuples from the first relation.
This operation is
(a) commutative and associative
(b) non-commutative and associative
(c) commutative and non-associative

and

(d) non-commutative non-

associative

115. Which of the following is possible

security threat?

(a) Information destruction

(b) Information alteration

(c) Information release
N All of the above

116. Salami attack is for
(a) website defacement
(b) controlling the website
(c) financial crimes
(d) Internet time theft

/25-C
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111, i 3 A A-w ferrd s e HisA T8 ¥
(a) freteas niea
(b) FRITTHFA HizA
(c) E-R #2«
(d) eas miza
112.aﬁgr:awmAn§,ﬂu§ame%3ﬂTR
m;@maﬂwﬁéaﬁﬁmﬁmm
R, @ T

(a) TH Wiy (deadlock) £ foafa 3793
ETGI

(b) T R A A R

(c) gmamhmﬁsn?ﬁ%

(d) Amgﬁﬁﬁ%mwﬁ‘m{ﬁ
St &

113.@%21%,&%%%%@%%

ﬁma,ﬁﬂﬁﬁwaﬁ?ﬂma?

(a) 321 W@ T Y

(b) 371 RetfRe| @ dnfa sy

(c) ?.a,%am,%afhﬁmqéwﬁ
qUY

(d) T & | FE T
114. 3 () NI TEA F=9 A § FH tuples
721 3 2| TR ATRIA A R
(a) Fhgfem siv wearh
(b) -wiepRa i wEar
() FrepRa i R-wearf
(d) -wepfa i -wwErh
115, B & @ dwfia Regf@ 92 FA-1 R7
(a) FHMIA feEA
(b) FHHTA AT
() I ENERIGIE
(d) I B
116. HETH AT F A B
(a) YawTge o ww femre
(b) dwErge N
(c) faxia Uy
(d) TR EWE H =

[ PT.O.
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117. What is multipartite virus?

(@)

Hybrid of macro virus and stealth
virus

(b)
(c) Hybrid of ActiveX and Java control

(d) Hybrid of program virus and boot
sector virus

Hybrid of virus and worms

118.

e

Act is to

(a) protect personal privacy

(b) prevent viruses
(¢c) increase the security of computer
systems
(d) reduce project failures
119. What is data encryption standard
(DES)?

_A4) Block cipher
(b) Stream cipher

c)~ Bit cipher
(d)

\

None of the above

Which of the
stealing the ideas
creations of others?

120. following represents

or stealing the

< |

Intellectual Property Rights

(a)
(b)

st
(d)

Plagiarism _»

Piracy
All of the above
121. Which of the following protocols may be
used for accessing World Wide Web?
(a) HTTP
(b) SMTP
(c) SLIP
(d) None of the above
122. Web pages are created in a language
called
(a) SLIP
(b) HTML
(c) HTTP
(d) WwWw

/25-C
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118. °°

119.

120.

121, 5% 9138 39 7%
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(b)
(c) fare wEHt

(d) ITdE & @ g T

frr # @ F9-7 gE0 F fa=md @1 e A
T F) gl R

(@) ST

(b) FeeTFeE WO I

(c) TS

(d) I asft
mmmﬁ?%mﬁ”“m
v4a) HTTP

(b) SMTP

(c)
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ame? B1s a valid dOmai_n 123. ﬁm ﬁ _& aq g}rﬁ: 1 9™ %
) .com {a] com
)  .gov @ (b) .gov
(c] .net (c) .net
d} All of the above (d) ITF Wi
124. MIME stands for 124, MIME frea afim &1 27 " Mail
(a) Multipurpose  [nterne . (@ Multipurpose  Interne
Exchange Mail Exchange . i
. (b) Multiple Information
(b} Multiple Information Main B |
Exchange (c) Multipurpose Internet Mail
e) Multipurpose Internet Mail Extensions ‘
Extensions (d) Multipurpose Information Main
(d] Multipurpose Information Main Extensions
S 125. URL freer fem &9 7
125. URL stands for (a) Unique Resource Locator
fa) Unique Resource Locator (b) Universal Resource Locator
(b) Universal Resource Locator (c) Uniform Resource Locator
L le¥ Uniform Resource Locator (d) United Resource Locatoj-
(d) United Resource Locator 126. TF U9 | g I9 @ HY qg?ﬁ ¥ fom fm 8
126. To jump from one pwothcr page, A Frga w@m w017
which of the following is used? (@) <A HREF> ... </A>
[a)_ <A HREF> ..... <[/A> (b) <link>
<link> (c) <jump>
_ic) <jump> @ (d) I9g 3 B IS AL
(d) None of the above IZT.ﬁ@m@h@mmmqﬂ
127. What is the by default time in 1.'1'1.in1-1tes Fa & v T9 4vA E@EW & s R, A
when a page session ends and if user fRafy § fewiee % &9 # e i frda1 |94
does not refresh or request page? T &7
) 10 (a) 10
(b) 15 @ (b) 15
(c) 20 (c) 20
(d) 25 (d 25
128. Search engine is used 128. €9 359 F T@ A4l
(a) to search document on web ) ¥ T TEAES @2‘ ¥ o @
(b) to search the file on host computer (b) AR TR T EE @ ¥ fom
(c) to search data in a file () ThEEE i 27 & ¥
(d) None of the above (d) 'I‘Tﬁ'rﬁ Q=
129. On what type of switching does Internet 129, 76 fra wan ) ki M w37
work? ta) e
(a) Circuit @ o) B
(b) Bit G/ el i
(c) P?.Cket )
(d) Line
27

/125-C
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130. What  is  related to application | 130. Lecica IR EC TLLC a2zl 3w
development strategies? gt 27
(a) I'lrainslonning 7 =
| ( ) (a) HFEZIHEN
(h) Technical planning : (b) AFfa) graa1 T4
() Writing the creative brief (c) THATEF Hag faaa
r o )
\Eg} All of the above (d) f wf
131. Which of the following techniques is Fuf G 5 a3 F14 F AT fra § 4
used for transmitting digital signal? A, ﬁ‘q-ﬁf\ i ?f?l’l%?m %
2 Y 1 gAm &
(a) Amplitude modulation . L -
a Qi&‘a?ﬁ_ Sqfﬂ: :E|5|;|
\,»I“b" Frequency modulation @ ®) )
(c) Pulse code modulation (b) i
(d) Amplitude shift keying (o) e 0% e
(d) Tfe=re frw e
132. Which of the following is an advantage of
computer networks? 132. f= & 8 #F19-11 Fgt Jead &1 TF A 27
(a) Resource sharing (a) " e el
(b) Improving reliability and availability (b) fremafafad au N CRICIG AR G
(c) Enhancing performance (c) THEEE F q@E
"h/:]‘],,- All of the above .
(d) T Bl

133. A network spreading in different = = ¥
geographical locations is known as 133, TF T2, A fafiya wmfers sl @ e =,

(a) LAN @ R b
(b) WAN @ @ “3

_lo) Both (a) and (b) (b) WAN
(d) None of the above (c) (a) ¥R (b) THI
134. Which of the following is a token-based d) 3'5@7-5 ¥ 3 T
protocol? 134. F 3 4 F9-w1 - T 27
(a) CSMA/CD 8} CSMA/CD
(b) Slotted ring (b) witre fin

Both d (b
£ Tokpaa prtin) (c) (a) N (b) 21 @

(d) None of the above

9) I A2
135. The number of layers in ISO-OSI
reference model is 135. 1SO-OSI 5= Hizs § f g

/25-C 28
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136. In the f()llgwing Pairs of
0

Iners/sublayerg and the;j
the mncorrect pair jg )

(1)

network layer and royt;
{b) |

data link
synchronization

ng

layer  ang

bit
(c) transport layer

and
process communj end-to-end

cation
medium access contr
and channel sharing

@

ol sublayer

137. What is the maximum number of

characters (7 bits + parity) that can be
Lransmitted in a second on a 192 kbps
lme?‘ This asynchronous transmission
requires 1 start bit and 1 stop bit.

(a) 192
(b) 240
(c) 1920
(d) 1966

138. In which layer of network architecture,
the secured socket layer (SSL) is used?

(a)
(b)
(c)
(d)
139. The address resolution protocol (ARP) is
used for
(a) finding the IP address from DNS
(b) finding the IP address of the default
gateway

finding the IP address
corresponds to a MAC address

finding the MAC address that
corresponds to an IP address

Physical layer
Session layer
Application layer

Presentation layer

(c) that

(d)

number of crosspoints needed for
crosspoint switch, which is
e and there is no

140. The
10 lines in &
full duplex in natur
sclf-conncction, is

(a) 100

(c)

(b) 45

50 @ 90

29
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136. OS! Y6 g /30 R g FAET ¥
il e St

(a) Yoak qra 3n wfm

(b) 2 firs T i faz frmEeeH

(¢) Zradd wa 3w we-7-mE yhEE HER

@ wam v frem mm st S
HITH

137. 3l $) sfuwm wen (7 fa + AFA) |0 R,

f@ 192 kbps @E ™ TH dag # I
S = HFA 2 7 38 vhmeE gmh ¥ g
1 =i faz i 1 =l fr A FEwEEd
B R
(a) 192
(b) 240
(c) 1920 iivh
(d) 1966
138, Yoad onfhewm i fFe wa # giee W
@ (SSL) 1 3w fem S 7 A
(a) fforere 7@ i
(b) @A T @ ég\
VoA T P

\yrﬁ%mqm
139. %38 felieqEA Wawia (ARP) F Iqar T
S
sk DNS & IP 7a1 €81 & feig
(b) fewiee e @1 1P v g6 ¥ forg

(c) % MAC W ¥ 3gFa P W1 3@ ¥
m

(d) tzqalpq%%arﬁamcvm@#
ferw

140. & w@Eige f@s, N yofaE duplex ? w
frall 7§ @ e T}, §.10 AR H

&

for etz 1 den &l
(a) 100 (b) 45
(c) S0 (d) 90
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141. In Huffman’s coding, if the symbol A has
probability 0:3, B has probability 015,
C has probability 0-1, D has probability
025 and E has probability 02, then the
minimum number of bits required to
represent all the symbols together is
(a) 14 (b) 11
(€) 12 (d) 15
142. X.21 1s
{a) a method of determining which
device has access to the
transmission medium at any time
(b) a method access control technique
or multiple access transmission
media
() very common but oriented at linked
protocol issued to ISO
(d) a network access standard for
connecting stations to a circuit
switch network
143. Which type of support for TFTP is
available from third parties, but is not
included in Windows NT?
(a) As client
(b) As server
(c) Windows NT includes full TFTP
support
(d) None of the above
144. Two main types of Internet-based B2B
commerce are
(a) net marketplaces and private
industrial networks
(b) EDI and collaborative commerce
(c) net marketplaces and collaborative
commerce
\9} EDI and private industrial networks
145. The media access control sublayer
resides in which OSI layer?
(a) Transport
(b) Network
\\) (c) Physical
: (d) Data link
/25-C
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uﬁaﬂ%aﬁmﬁmo-a,msﬂ
ifgar 0-15, C #1 0-1, D#1 025 nagii
0-2%,ﬂméﬁmﬁm‘?mw
@muﬁaﬁamﬂafﬁu:ﬁaﬂfﬁﬁmﬁ
HTvgFAT B 7
(a) 14

(c) 12 d) 15

(b)y 11

X.21%

(a) TH BUE, N Far 2 5 Fa-d@ RagE
;mﬁmrh%maﬁﬁmmtrtt{aﬁﬂ
Ezuil

(b) TF Bus TR FE SHHH A1 HieTd
waE ZmYA s

(c) fa "= afFA 9% WREFE ) AN
AfeeE & S 6 1SO F1 T R

d) T dead wEEm vl fwd = A
wfe fera Jeah @ g 5 2

TFTP ¥ forg FF-w @, o€ ol & 39fer
% 3k Windows NT 3.wmfie T& ??

(a) Fes2 #F} Wifd

(b) @t i wifa

() Windows NT Q@ TFTP ¥ & #1%
w1 8

(d) 39w 3§ | F§ T

$0R-3vIRG B2B T4 ¥ 2 g WEN 2
(a) Y& IR 3R fsh s Jead

(b) EDI 3R gearft aiforsg

(c) Y& W 3 weanh arforsa

(d) EDI 3R st sheifirs ek

fifen wRw Fg@ waSw R OS1 S &
fran 27
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146. Which  of the follnwing i
packtracking algorithm? ’

\a)  Knight tour problem
(b} N-queen problem

(c) Towers of Hanoi

not g

(d)  M-coloring problem

147. Which of the following is useful in

traversing a given graph by b
search (BFS)? S

(a) Stack
(b) Set
{c) List

(d) Queue

148. Which of the following algorithm design

techniques is used in the quicksort
algorithm?

(@)
(b)
(c)
(d)

Dynamic programming
Backtracking

Divide and conquer
Greedy method

149. What is the output of the following code
snippet?
#include <stdio.h>
#define var3
void main ()

{
short num (3] [2] = (3, 6, 9, 12, 15, 18};
printf ("%d %d", *([num+1) [1],
**[num+2));

|
}

(a)
(b)
(c)
(d)

15
12
15
12
150. For merging two sorted lists of sizes m

and n into a sorted list of size m +n, how
many comparisons are required?

(a) O(m)
(b) Ofn)
(c) O(logm+logn)

(d) O(m+n)

/25-C =1
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lﬁ.ﬁnﬁ%ﬁm-mmﬁmmqﬁ%?
(a) ATEE T WiscH
(b) N-%H Wieem

(c) Zrd 7% &8
(d) M-Fafm i
147. fra § & FA-m, ™ TH F) AgU-FE T
(BFS) g1 ¥ad #r3 § I7anft 27
st B
(b) #2
(© faz Q
(d)
148. frm 3 A frm Yoifgm fesgd @A #1
I quicksort Yeifgn & fFan i 7
(a) SHEATHE WrTEm
(b) FHM
(d) firdh Aus
149, = §¥a (code) #1 f1fd (output) 14
#include <stdio.h>
#define var3
void main
. (), cs

P

short num (3] [2] = {3, 6, 9, 12, 15, 18};
printf ("%d %d", *mum+1) [1],
*»(num+2));

}
(a)
(b)
(c)
(d)
m U n A H D e TR F m+n
e # T wee e i e F fo R
qenall ) savEHa e

(@) O(m)

(b) Ofn)

(c) O(logm+logn)

(d) O(m+n)

12
15
15
12

15
12
15
12

150.

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	1_Page_01
	1_Page_02
	1_Page_03
	1_Page_04
	1_Page_05
	1_Page_06
	1_Page_07
	1_Page_08
	1_Page_09
	1_Page_10
	1_Page_11
	1_Page_12
	1_Page_13
	1_Page_14
	1_Page_15
	1_Page_16
	1_Page_17
	1_Page_18
	1_Page_19
	1_Page_20
	1_Page_21
	1_Page_22
	1_Page_23

